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Section One: Multiple-choice 28% (50 marks)

This section has 25 questions. Answer all questions on the separate Multiple-choice |
Answer Sheet provided. Marks will not be deducted for incorrect answers. No marks will l
be given if more than one answer is completed for any question.

Suggested working time: 50 minutes.

1. Which one of the following is the best conductor of electricity at 25 °C?

Water. (/ ittt miltsedos / vivey f%@ ale 8llctvel b;;f le J
B.) An aqueous solution of potassium chloride. -

Solid silicon dioxide. — Jat € - fggj s e j ]
Solid sodium chloride.

y RN ) Py N
INAS Lo b Al &R
SR o ] ,?;gw; o sAC iii:{%r v O¥ R

/n (e Q
2. Two isotopes of Strontium are Sr8 and Sﬁ/ Which statement is FALSE?

méf;f e % /r%gv lfé&gwﬁg élégﬁ%/f,wﬁ
! &t '3 ‘

A. They both have the same number ofxprotons
B. They both have the same number of electrons. /
The relative atomic mass of Strontium is between the two isotopic masses. /

, Y ﬁ"f”/’ o
, @ﬁ%{ J 4 we /4 Lo Ao o€ bncngs W Al W ;sz gré jg:;;jg % t
3. The -2 ion of’element X has an electron conflguratlon(of 2, 8 8 “‘Which of the / S fecoe *)

followrng/statements is true based on information grven’?
S J%{f/ s ”éfm/ «f* -

} \ I 3 . 2 %«W R
(“A. Xis in period 3 a 7=

nd group 16 e
B. Xisin period 2 and group 2
C. Xisin period 3 and group 2
D. Xisin period 2 and group 16

4.  Consider the reaction below:
Potassium Jdﬁgencarbonate decomposes to Potassit Carbonate Water and

Carbon Dioxide \
The correct coefficients of the balanced equation are; '

5 1212 Dbuco, —> K00 +10 45

B. 1,2,1,2
C. 21,21

ﬁ/)21,1,1




ATAR CHEMISTRY 4

4 / ¢
5. Which one of the following statements about graphite and diamond is true?

A. They have the same crystal lattice structure. <
B. They have the same degree of hardness. >
C. They have the same electrical conductivity.

D\They can undergo the same chemlcal reactlons e s £ f
w : A e A

6.  Which one of the following statements about the Group 1 metals is false?

A. Their atomic radii increase down the group. v~ Srve shells ;
B. Solutions made by dissolving their oxides would all have a pH >77 /s’ 4§ &
C. Their ions have the electronic configuration of a noble gas. v, Vixa

@\\Thelr melting points increase down the group. *

7.  The light emitted from a fireworks display i is produced when electrons in an excited
state;

A. absorb energy as they move to lower energy states ok
B. release energy as they move to higher energy states RS /Mr/%m,

(‘Cj:halease energy as they move to lower energy states P
D. absorb energy as they move to higher energy states

8.  Which of the following fertilisers contains the largest percentage by mass of
nitrogen?

e ?ij/ /*’“* N

/ @ammonlum chloride, NH4C/, M; = 53.49 jos

B. ammonium sulfate, (NH4),SO4, M; = 132.13 A& 01/
C. potassium nitrate, KNO3, M; = 101.10 ’% 74 f”/m (o
D. sodium nitrate, NaNOs, M, = 84.99 -0 /@ G4

See next page




ATAR CHEMISTRY 5

9.  In a solution containing a mixture of sodium nitrate and sodiu sulqute the

concentrations of sodium ions and nitrate ions afe O 500 mol L™ f/and 0.200 mél WL"*‘ |
respectively. What is the concentration of sulfate ions? | g ‘

Y,

0.100 mol L™
1)0.150 mol L™ o S

—1 g d 4 ’
0.200 mol L P ’%’2 S0y

D. 0.300 mol L™ |
0200 drem Na by

2, 49 <fe;37‘ f;’% !ﬁm
S 050 nd o §@’gf Sy

10. When 1 mol L™’ aqueous solutions of the substances below are mixed, in which Sf@@;g
cases will a white precipitate be formed?

e

A. LIL IITand IV
B. Il and lll only

7 C1, Il and IV only
“D. llonly

11. Flask X contains 1 mol of gas at 250 K.
Flask Y contains 2 mol of gas.

The volumes of flasks X and Y are the same.

The pressure in flask X is the same as the pressure in flask Y. This could be
explained if the gas in flask Y:

A. had half the relative molecular mass of the gas in flask X. »
{/’?was at a temperature of 125 K.v”™ Smee A 4/
h was composed of diatomic molecules. x 772/ 7. i/

D. had half as many molecules as the gas in flask X. ¥

12. In which of the following would particles have the highest average velocity at

standard temperature and pressure?

A. Carbon monoxide /2+7% = 2¢
B. Ethane 2r/2+ 4 = 20

ydrogen fluoride /+ /% = 2o
D. Nitrogen 2x/¢ = 28

O o

See next page
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ATAR CHEMISTRY 6

// f/\//5/ a 71’ uﬂ/”f 5 ﬁ{ll“/
13. Aliquid placed in a thermally rnsulated i open beaker is evaporated by a stream

air from a fan. Ae/th\e l|qU|d evaporates ‘which one of the following occurs to the

\

molecules remaining in i the Ilqurd’?

A. Their average kinetic energy increases. ><
4
__B._The rate of collision between the remaining molecules increases. X [t

C. Thelr average velocity decreases. v~ ([

{¢

"D. Their molecular radlus decreases. ¥ /y7¢[ovanf /g\ﬂ Fu lSe

/L’ 27 :‘r;yf: l/. / co //?Z(

74

chloroform, CH3C/, is 19.3 kPa. From this information we can deduce that: S, (e

— [

A\
r Mther has a lower boiling point at atmospheric pressure than chloroform.
B. ether has str@rger intermolecular forces than chloroform.
C. chloroform will boil at a lower temperature than ether.
D. chloroform has stronger covalent bonds between its atoms than ether. <

nor éi’rc?f‘i<? w, 0 Nrefett
15. Which of the following processes is endothermic?
A. CHs + 20, > CO; + 2H,0 ¥ f?“

/B) HOg > HOy " ML /P — breptZetp-cldvils
HzO(g) -> H20(|) /7 - ,;‘,".';;.f’ci {8 ./':'/Ké—f

2 X /%/ﬂﬁ /;{/ é ) ‘N_’_" A

16. Measured at constant temperature the rates of chemical reactions decrease as
— N -
reactions proceed because:

\ So NO/ abmt brevepy

[ ,,/

-

IQ the reactant concentrations decrease with time. .~
“B. acatalyst is needed to maintain a constant rate of reaction. x W} Frue
the fraction of reactant molecules with energies ln/ﬂexcess of the activation
energy decreases as the reaction proceeds. X [ 4 ff-"‘w:;)

absorption of heat by the reaction diminishes the reaction rate. X

O o

o

7, Vi
y v
/

17.  The emission spectra for an Element can be used to do what? gu s holwer.
v !

! 12

A. Determine the mass of the sample

ti; EW Determine the identity of the element A D 72
C. Determine the number of moles of the element ‘
D. Determine the number of electrons

See next page

/j 14 / /u/ L

,/ y (/ "‘. avta
14. At 20°C the vapour pressure of ether, C4H1oO is 58. 9 kPa while that of .7 ﬁ’«/%““ des

of

) .
e bt
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J-6

18. The shape of sulfur trioxide could best be described as: -

A. tetrahedral

B. bent X AY

C. pyramidal S L
(’\’?/:@riangular planar 07 .0, i
19. The conjugate base of the species HSO3 is:

A H803 : -y i Vi

C. H2803 ‘ v

D. HySOs

20. What amount of gaseous HC/ must be dissolved in 1.00 litre of aqueous
hydrochloric acid solution to change |ts pH from 3 to 2’? (Assume no volume

change occurs) / R oy
ﬁ’fjd/ m f L~ / — (/j o/ mell
“"A.)0.0090 mole P
“B. 0.090 mole v ke neld 1 AdA &L
C. 0.01 mole — 000 '
D. 1.0 mole f (,» )G

21.  Which of the following statements concerning the Brgnsted-Lowry theory of acids
and bases is FALSE? o . :
A. When a proton is donated by one species to another in aqueous solution, the
reaction is classified as acid-base’
B. The ability to accept protons from other species in aqueous solution is a
property of bases. +~
C. Abase is produced when a catlon anion or molecule donates a proton in
____aqueous solution. | v /
" D. Inaqueous solutions, bases are those cations, anions or molecules that
donate protons to other species. \/\

¥
f
/

See next page
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22. When Bry(aq) is added to compound X in the presence of ultra violet light, the

solution turns colourless, and the product formed is 2-bromobutane. The identity of

X is therefore:

\ A./:/:i\butane i
‘B. but-1-ene C- C- C- L
C. cis-but-2-ene , 9
D. ftrans-2-butene , /, , )
/ VL~ 11 / y
74 DD TN Wov L/
23. How many alkene isomers are there with molecularT(/)rmuIa C4Hsg? /,/r,,,}
A 2
== il — -
B.v‘ 3 C - C .
( ®4 » ' C
5 6 C—C=C—C (e / :

24. Which of the following substances contains a different number of carbon atoms

from all the others?

A. 3-methylhexane - o
B. methylbenzene — N

C. hept-1-ene
D. Jdimethylbutane

:f)

N

C C
T
[

~

\
c-Cc-c

25. An organic compound has an Empirical formula of CH,Cl. The molar mass of the
compound is 99 g mol™. The Molecular formula is;

A. CH.CI
B. CyHiCl
“C. GCoHiClp >
D. CHCl

Yor J-0ff + 3745

Place a “X” in one of the responses for each question

See next page
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END OF SECTION ONE -

See next page




ATAR CHEMISTRY 10

Section Two: Short answer 39% (70 Marks)

This section has 13 questions. Answer all questions. Write your answers in the space
provided.

Spare pages are included at the end of this booklet. They can be used for planning your
responses and/or as additional space if required to continue an answer.

Suggested working time: 70 minutes.

Question 26 (4 marks)
Give the name of each of the following substances.

a)  Co(NOs) IR " /

b) CeHsCHs )

c) HNO;
/;& / , / y /
d) P20s “/(} ol g gl SR
‘/’/'/ A//"" \ - /l“ _ d _ N /
Question 27 (4 marks)

Name the strongest intermolecular force involved in each of the following substances.

a) CHsCH.CH3 7)'/5"/&

b) Hbzo ./L/ - é 6}3,1”/‘/’/
/ / /

c) CHsCH.OH /- Lo/

~

d)  CHCI Nao-b

See next page




ATAR CHEMISTRY 11

Question 28 (8 marks)

Draw the full structural formulae and give the IUPAC names of four non-cyclic isomers
of C5H10.

Structural Formula IUPAC Name

r

\

f | \ /
/Cté(C [ C /" /;),_"7!, .f/j/;_’f- 2, O 7 / _ / ,-,i/',,i V4

]
|

g PP \\
(Y aye s )
i pe () o /
- ) ) / )
C:C/ X = pentrinl | pPé
\ /
- | 4 /
_r~ ~ /)
C/,.’C:,L'dt h // - /
) ~ L/\ /
£=C N
p / | D// ) L ",/:‘_; / / -+
B ( [ /
r/vl 4,
. ’ , ), [ 7
—r ' —d M [ — |— pinfene
Question 29 /,,ﬂ, - i C C+ =~ U0 (3 marks)
" M y H
Complete the following table. “"\CA 7 2 .0 2, / L Lr, 0
=L (r i | \—holtiw) |— |— Onrett .
T ONCH(CHy ), Sty I 2
Species No. of Protons No. of Neutrons Electron Configuration

14 C 6 é?' / y, ///j\ ;r

Vo ~ 4
( /; , 20 20 2,8,8
» ) e ///3\\
y “ ]
// / N .
( 7 Uce >
L

See next page




ATAR CHEMISTRY 12

Question 30 -‘ (4 marks)

One of the consequences of increasing carbon dioxide levels in the atmosphere is that
more carbon dioxide is dissolved in the oceans, leading to increased acidification due to
the presence of carbonic acid (H2COs), which partially ionises to form the hydrogen
carbonate ion.

a) Write an equation to show how carbonic acid is able to act as an acid when

dissolved in water.
(2 marks)

L i - / / ~ —~
"f‘ A //7 }_\/ - \ Ve /) . 7V /\ ‘,L’ 'A/_),—'“—
asr + la [/ / ( VS - - )

{ / / f ',- \ — oo [ \ ' ¢ /
)/

e

f /) ’ <) 'y ™~ —-— ,/ / L [4 o “// ) Lz‘ .

b) ”‘Identify the corﬁugate base of the hydrogen Carboﬁate ion.

0 |

Sea water normally has a pH of around 8. With increasing carbon dioxide levels it has
been measured in some oceans to have changed to 6.

c) By what factor has the concentration of H" ions in increased/ decreased?
(1 mark)

See next page
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Question 31

13

(5 marks)

For each of the species listed in the table below, draw the Lewis structure (electron dot
diagram), representing all valence shell electron pairs either as : or as — and shape.

(for example, H O H or H—'p'_—H 0 H— )
water
Species Lewis Structure Shape
7 /
P ot )/
SO, G A |
f'ﬁw - i ey /. ") ' /D
1
( -
CH, N (- /3 lya hetchoa
|
H
Mg(NOgz). Ma \ ZE | I\ n/a
Question 32 (4 marks)
//
Give the formula of substances that match the following descriptions.
/, /// :
a) Atriprotic acid. Va ) 173 / 4
e
b) A substance that has delocalized electrons. (/s ﬁc;
c) The third smallest saturated hydrocarbon. () 3 'y L
”(/ f A ) I’ /k ~
d) Aweak electrolyte g L= ! 7/"/3
ﬂé/’\f:a. ¢ ) (A ‘
aef "

See next page




ATAR CHEMISTRY 14

Question 33 (12 marks)

Give balanced ionic ( where appropriate) equations for any reactions which occur in
the following experiments. If no reaction occurs then write 'no reaction'.

In each case describe observations such as colour changes, precipitate formation (give
the colour), or gas evolution (give the colour or describe as colourless) resulting from
the chemical reaction. If no visible change occurs then you should state this.

,, ~
7//“/ . ’/ s 4 > AR ‘/l -

a) A spatula full of calcium carbonate is placed in a test tube of dilute hydrochloric

acid. 1
/ ,d ,m ) /7 B (//‘ﬁ / ) L
/ Yy - 73 7 4 a
L i C _,/, Y - B ( 1% C
Equation /,11 ( +# 2 = (4 + (d, + Lo ¥«
P
/ / 7/

Observation %/ N1 be f o = e Shhae —> /L] S

N . - w\\. »
b)  Bromine water is added to hexane in the presence of sunlight.
7 ] y / 7 -~ , - f
. y /4 L‘—m:}: / ,.;/ ; ‘, ' /:/ 4
Equation 0 5 ( / > (é; 7,3 Bv - / 75,
A , «4 /,
Observation LV O ¢ & Lo Tenvnd o /flgi]

c) Barium chloride solution |s added dropwise to a beaker of nickel (ll) sulfate

solution. gy etz |
' g 170 . L2 (Der o
Equation /{;, L le"j - = /1 (’/ ¢ 7

/ -
Observation é/k o Sipchton 4 ﬂu” O —> ponfe pnk

7
d) A solution of potassium hydrOX|de is added to dilute nitric acid.
7 ,./ S /, Ve
, VA /) Lt A
/ ',1’1_: 7 2z ;:.-'/"., g ) m— — > A AL \" + ’./ (
Equation HT + O —> fho
Observation V444
= /. /.
D r/loy SHpos —= oy S

See next page
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Question 34 (5 marks)

Bordeaux Mixture is the name of one of the earliest known chemical fungicides. It first
found use in France in the late 19" century, being sprayed onto grapes at the side of the
road to prevent pilfering, since it had an unpleasant taste. It was subsequently discovered
that vines that had been sprayed with the mixture were not affected by mildew.

Bordeaux Mixture is made by dissolving quicklime (calcium oxide) in a solution of copper
sulfate. Its concentration is usually given as a percentage by mass, so a typical 1%
solution has 1kg of quicklime and 1kg of hydrated copper sulphate (CuS04.5H,0) in
every 100kg of solution.

a) Find the molar mass of hydrated copper sulfate. (1 mark)

b) Find the percentage copper by mass in a 1% solution of Bordeaux Mixture.

2 marks

/ rp ) — m— -
. / ‘’'4 - 4 / / < ~ A - - P —
fo Ce n Lo Py - S X

c) Calculate the concentration of copper sulphate in a 1% solution of Bordeaux
Mixture in molL™. Assume density of solution is 1g/mL
(2 marks)

_,/),/, [— (/fﬂ/ : Dl o 1//,;’ (&4 # _ / / , YA

L/
| A’f
Y /4 y , ‘ / ot
Ara S ./ /04 f
BT A (4. VYV & ! A = / —
g ¢ ( N et Ir: (
y) /
r/‘,z 3 ? N

” \ /
y — / B P , P
A / / /. — ) p- - S - - ) {
/- ( (e QS Yy I (. 779 0 — = /,,« L - & ‘9/;7'?'
) \

See next page
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Question 35 (6 marks)
Explain why ammonia (NH3) is polar yet carbon dioxide (CO,) is non-polar. Use terms

like; non bonding electrons, shape, dipole. Lewis diagrams may help in your explanation.
( You do not have to use all these terms to get full marks)

—
) Lhewl. |5 oL Petepnir]
g s St S hope W/M/W? / 1EHn //‘)&

H’ N - M ) g wdls e J/ﬁ//ﬂ %/M, b éLECWJNE/’ﬂ77V/7Z/
) DIFFLAENE bopeee N+ //

M‘ 4 %\ﬂ/ Non- iy FZMV o t/[é/ s I /\/

A~ Vv/": 7
/3 WW (D C oy gl o SUMMETRY  hafed
T fudd otpdes o b Gt

= 0=0, ¢ No nochadeq elochont o ( abir
| y LUNGHAK

| LN e, C ad O
NEpr] T DI LLWE b g

;s hoaa 6 o e

) " . oA . - i
Y > , CummETRY of wilesle Ies
Y. QQ/W& A ) e Ku 19( g,(u[,k ;s (pcl / ‘
[ J w,‘ﬁ// for g
L

/\/aw/ W{J’Mé’ 12 é@

(mneched /P Scoe
yine /é A

See next page
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Question 36 (7 marks)
Account for the following observations.
a) A1 molL™ solution of magnesium chloride has a lower vapour pressure at 35°C

than a 1 molL™" sodium chloride solution at the same temperature.
(3 marks)

Mnlly) vs Nad
AV > /7 4 /7
AH

) - - / ’ ) /], , s A .
/}/‘ ) A ) , Y 74 %ﬁ/ﬂl//‘p //'//,%/ '/7// /»/M/ /// p/ ; / A / /fd
/ / L/f |

|

J
( 7\
2 \ // / / s /
/) ’) vy, ’y, £7) - f Vi N {
MW A 4 /N1 0 A 7 AN N, A .. n p
< U/ y v | 78 & “ v, vV A - /O/‘wz_,‘ ,.//,//‘, £ Y 4/ (P
'\\7‘
/ ; / / _
~f . 2> & f L
& / 4 A )
{ ¢ 4 / Ve v 1T V¢

~

s’

b) A 1 molL™ solution of ethanoic acid is a poorer conductor of electricity than a
1molL"" solution of nitric acid.

Yy , (2 marks)
yay/4 ) ) ) ) o f Yy y/ o y
AN AnO. : /M (SE) v h lle] M//’ evead
o 7 v -
// ’ ‘ / ~ / A /
/”;/ “/( / l 4 /' 4 . (f ( | | //‘i "‘/’// v/[:‘f Vi /V ~L/ V
LI \‘/w" o /

J around 1650°C.
(2 marks)

N
\\
\
N
Q"\\ <
N
>
N

N /)

D ‘
/1 Y /
Oy At
//;u [ & o1 /‘ /8 o A / ”[f e d
D c) Solid carbon dioxide will sublime at -78°C, but solid silicon dioxide will melt at
See next page
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Question 37

18

(6 marks)

Give a chemical test and observations that would enable you to distinguish between
the following pairs of substances.

Cyclohexene

v J

Substances Test Observations
Benzene:
/“/f oY "?x/f‘
Benzene and N/

Cyclohexene:

)// /i/u, /m

/f/a/,,‘ N ///“’7 /"” J(«/ /

Solutions of
@ potassium
carbonate and
potassium nitrate

Y

Jeb! [olilute

vy '/,»';’/

weevy|

(U/ Soma %’/MA/
% /ﬁ/ﬂ L1 F, //c

///[/fl‘ I

Potassium carbonate:

( ' V4
gl boley of cftens
LDt
f
‘L"t

Potassium nitrate:

NVK.

\
T~

/ /o]
a ot {2,
/ [
/ ; Vi
:Y, 1y AN //? 1
{ Jnlv ¢ A/ /

7

7/’)

/[/6’/ Wﬁf"’”?(/ /7/1// added
Led // Aol

Qv on O

o d ﬂ//a
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Question 38 (2 marks)

During the 17" and 18" centuries, experiments were being carried out to try and establish
the relationships between volume, pressure, and temperature of gases. As a result of
these experiments, a number of laws came into being: Boyle’s Law (relates the pressure
of a gas to its volume) Charles’ law (relates the volume of a gas to its temperature) and
Avogadro’s hypothesis (relates the volume of a gas to the amount of gas present) (in
moles). These laws were combined to give the Ideal Gas Law we use today.

a) On the axes below, sketch graphs to show the relationships governed by these
laws.
i. Boyle’s Law (constant temperature, set number of moles of gas) (1 mark)

~——

‘ ) 117 )
Volume || // JUK- 1

y

0,0) - Pressure
ii. Charles’ Law (constant pressure, set number of moles of gas) (1 mark)
/ / W V444 [ %
Volume o H 1K
=t N / ’fbt
/ ) o .' . / DT 9) "7//
(0,0) ) Temperature/°C
. END OF SECTION TWO

See next page
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Section Three: Extended answer 33% (60 marks)

This section contains FOUR (4) questions. Answer all questions. Write your answers in
the spaces provided.

Where questions require an explanation and/or description, marks are awarded for the
relevant chemical content and also for coherence and clarity of expression.

Final answers to calculations should be expressed to three (3) significant figures.

Spare pages are included at the end of this booklet. They can be used for planning your
responses and/or as additional space if required to continue an answer.

e Planning: If you use the spare pages for planning, indicate this clearly at the top of
the page. ‘

e Continuing an answer: If you need to use the space to continue an answer, indicate
in the original answer space where the answer is continued, i.e. give the page
number. Fill in the number of the question(s) that you are continuing to answer at the
top of the page.

Suggested working time: 60 minutes.

Question 39 (19 marks)

The Pilbara region in Western Australia is one of the leading iron ore producing areas in
the world. The ore that is mined contains a number of minerals, including hematite,
magnetite, and titano-magnetite.

Iron has been extracted from its ores since the 5™ century BC, but the development of
coke blast furnaces (as opposed to charcoal) in 1709 enabled much more efficient
extraction. This method of extraction changed relatively little up to the 21% century.
Kwinana is now the site of a new Hismelt iron production plant, which, it is envisaged, will
one day produce up to 800,000 tonnes of iron each year.

The technology promises to offer a lower cost and cleaner alternative to the traditional
blast furnace process, but the chemical reactions taking place are largely similar. In the
smelter, fine iron ore and coal are injected directly into a bath of molten iron. Here, the
carbon dissolves in the molten metal, and reacts with iron oxides to produce iron and
carbon monoxide.

See next page
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a) Balance the equation for the reaction taking place between the carbon and iron
oxide.
9 . . (1 mark)
FesO3 + _° ce,{ Fe+ 5 CO
The diagram below shows the design of a Hlsmelt furnace.
Offgas
-
i Raw )
Oxygen Enriched &8 ,’ﬁa:;ejaig
Hot Air Blast Injection
Watar
cocled
parsls
Stag Noteh <7
Metal Bath
b)  Explain, using collision theory, why it is important that the iron ore and coke are
finely divided when they enter the molten iron bath at the bottom of the furnace.
(2 marks)
/ 1 ///# Cugid ﬂ/ 1 ////’ e aréa | L’? e 4 / 177 h tALEA
7 /
b VI wel /) 1 d
IV pored  ro Lot IonA
A4 J 4 o <7/ ' _ ; : )
¢ / veqLinr COolldlond —=> (anty ra ./ ¢

/ Jnow ﬁ A/ Vi

See next page




ATAR CHEMISTRY 22

c) The rapid expulsion of carbon monoxide causes a fountain of molten metal and
slag droplets to rise up inside the furnace. A hot air blast is used to combust the
carbon monoxide released by the reaction. The air in the blast is enriched with up
to 35% oxygen to aid this combustion.

Explain using collision theory what effect the enrichment of the oxygen content
has on the rate of reaction between the gases.

(2 marks)
/r/f“ “ -

~ SN - p e ‘ / ) | : / F,
Intraats e (0] s ma
7 ) \ / ‘y"”
0y  pn(~  vopuwnd
/
/[} ﬁ,f ‘\/ ,“ /// j " -

/ /;',/' ) /

See next page




ATAR CHEMISTRY 23
d) The equation for the reaction between carbon monoxide and oxygen is shown
below: -
’ A\] yASP
2CO(g) + Oz(g) > 2COzq) AH = —566kJmoI'1 X O

On the axes below, draw an energy level diagram for the reaction. Ensure that you

label the axes, reactants and products, and the enthalpy change clearly.

(3 marks)

/ /] 7 /
) / (0 /)
aV.e |

One of the advantages of the Hismelt process compared to traditional blast furnace
methods of extraction is the flexibility it offers with regard to ores used, meaning less
processing is required.

J
/ / 7z 7/
f ” Y
[1 [ e Urely
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‘ éz 7

e)

If 500kg of direct shipping iron ore, containing 60% Fe,O3 are fed into the furnace,
together with 500kg of coke, find the limiting reagent (assume the coke is 100%
carbon).

- L (4 marks)
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16
f)  What mass of molten iron would be formed in the reaction? [l P AV 1P /
(3 marks)

/. . / L/ i ) . ] ) /N
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g) What volume of carbon dioxide would form (the molar volume of a gas at 1200°C

and 100kPa is 122.5L)?
(2 marks)
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h)  What volume of air would need to be blasted into the furnace to provide the
oxygen for the combustion of this carbon monoxide (you may assume the air is at
the same temperature and pressure as the gases in the furnace)?

(2 marks)
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Question 40 (19 marks)

The Argyle diamond mine in the Kimberley region of Western Australia has been in
operation since 1983, producing more than 750 million carats of rough diamonds. Current
reports suggest a mine life up to 2018. Argyle diamonds are renowned for their unusual
colours. Whereas most diamonds mined in well known diamond regions, such as South
Africa, find application in cutting tools and drilling, the rare pink diamonds from the Argyle
mine are used exclusively for fine jewellery.

a) Using your knowledge of the bonding present in diamond, explain why it is ideally
suited to cutting and drilling applications.
(3 marks)

C

See next page
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Graphene is an allotrope of carbon similar to graphite. The diagram below shows a sheet
of graphene wrapped into a structure known as a nanotube.

b) Define the term allofrope (1 mark)
4 / / ‘ / /
Qﬂ/}w ///’ L, Mirlr enh” Spyiemved dVvi
/

c) Using your knowledge of the bonding present in graphite, and the diagram above,
describe the ways in which graphene’s structure is similar to that of graphite.
(2 marks)
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Aluminium is one of the most common elements in the earth’s crust, but is one of the
most expensive metals to produce, largely because of the cost of replacing the huge
carbon anodes, and the cost of supplying electricity to the cells.

d) For the following uses of aluminium, give a property of the metal which makes it

particularly suitable for that use. P——

Use Propaty
. é ;V,{/‘_’ / / ,T‘ ”/y’/. L "[/ /w
Cooking foil (peq (ona /

v 7

a8 o,«j/' /’Affr‘ ',,L . o / ) ”
Overhead cables ﬁm, (i

y i A VY]

Aircraft manufacture / P Qe 1y [emieachr

; :.}’ h /. J

Students wishing to investigate the possibility of cooking foil reacting with food acids
carried out an experiment where a piece of aluminium foil was placed in hydrochloric acid
in a conical flask, and the flask connected to a gas syringe. A diagram of the equipment is
shown below.

I N A T e

Gas Syringe System

See next page
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e) Write a balanced ionic equation for the reaction taking place. (2 marks)
9 e bl —> 3 g
Q 7 e (it 5/’/5/ i

It was decided that the volume of gas would be measured every minute until the reaction
was complete. The reaction was carried out at 25°C. The results of the experiment are
shown in the table below.

Time/s 0O {1020 |30 |40 |50|60|70 80|90 100|110 | 120 | 130 | 140
Volume/mL |0 |15 |30 (45 |58 |70 |78 (8588|9092 194 9% |98 |99

Graph the data on the graph paper below (4 marks)
[ ) __:!j 1 r
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b o w T Yo SO g b fe o Moo 3D
f) Use your graph to find the rate of reaction, in mL per second, after 20 seconds.
SN (2 marks)
. =y j; J ,
Y/ ;}w . ,f!

9) On the same graph, sketch the results you would expect to see if the reaction had
been carried out at a temperature of 35°C. Ensure you label this curve clearly.

7,(/ o (2 marks)
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Question 41 (12 marks)

An organic compound X, containing only carbon, hydrogen and oxygen, burns in oxygen
to form carbon dioxide and water only. A 1.000 g sample of X produced 0.9310 g of H,O
and 2.28 g of COo.

a) Calculate the empirical formula of X. ’ (6 marks)

.

s

b)  Given that, when vapourised, 2.484 g of X occupied 972.7 mL at STP, determine
the molar mass of X. P ~ (2marks) 7

[l
! &

See next page
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c) What is the molecular formula of X?

(2 marks)
4 7 o . 7
N,/ J/i?ff jf/ - £ é‘(/{fﬁg -
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d) “X” has the following structure: were R and R’ represent hydrocarbon chains

Draw a possible structure for “X” (2 marks)

See next page
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Question 42 (10 marks)

Describe in detail the following methods of separation used in chemistry, Mass
spectrometry and Chromatography.

a) How can we use mass spectrometry to separate two isotopes of Molybdenum,
atomic mass 92 and 100? Use terms like; ionisation, acceleration, deflection and

detection

l
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v \

END OF SECTION THREE
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How can we use chromatography to separate compounds in an ink? Use terms
like; stationary phase, mobile phase, retardation factor and intermolecuiar forces.

By
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END OF SECTION THREE
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